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Quiz 14, Attempt 1
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[bookmark: _GoBack]Test the hypothesis that public education support and balanced budget support are independent.  Find the p-value in terms of an appropriate distribution.



Quiz 12, Attempt 2
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77. A sample of 400 people was asked their degree of support of a balanced budget and their
degree of support of public education, with the following results:
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20. Consider independent random samples of size n, and n, from respective normal
distributions, X; ~ N(g,, ¢7) and Y; ~ N(,, a3).
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(c) ‘Derive the GLR for testing H, : g, = g, and g7 = o3 against the alternative
Hy:py % p, or 07 # 0.




